Introduction to ttcp
The ttcp command is a Linux tool used to generate synthetic UDP and TCP traffic loads.   Together with ping and traceroute, ttcp is an essential utility program for debugging problems in IP networks.   Running the ttcp tool consists of setting up a ttcp receiver on one host and then a ttcp sender on anther host.  Once the ttcp sender is started, it blasts the specified amount of data as fast as possible on the ttcp receiver.

By default, ttcp transmits data over a TCP connection.  The ttcp sender opens a TCP connection to a ttcp receiver, transmits data, and then closed the connection.  The ttcp receiver must be running when the ttcp sender is started.   UDP data transfer is specified with the –u option.  Since UDP is a connectionless protocol, the ttcp sender starts immediately sending UDP datagrams, regardless of whether a ttcp receiver is established.

A ttcp receiver process is started with the command


ttcp  -rs  [-lbuflen]  [-nnumbufs]  [-pport]  [-u]

A ttcp sender process is started with the command


ttcp  -ts   [-lbuflen]  [-nnumbufs]  [-pport]  [-u]  [-D]  IPaddress
The options of the command are:

-t

Specifies the transmit mode.

-r

Specifies the receive mode.

-u

Specifies to use UDP instead of TCP.  By default, ttcp uses TCP to send data.

-s
Sends a character string as a payload of the transmitted packets.  Without the –s option, the default is to transmit data from the terminal window (stdin) of the sender and to print the received data to the terminal window (stdout) at the receiver.

-nnumbufs
Number of blocks of application data to be transmitted (default value is 2048).

-lbuflen
Length of the application data blocks that are passed to UDP or TCP in bytes (default is 8192).  When UDP is used, this value is the number of data bytes in UDP datagram.

-D
Disables buffering of data in TCP and forces immediate transmission of the data at the ttcp sender.  Used only in the context of TCP.

-pport
Port number to send to or listen on.  The port number must be identical at the sender and at the receiver.  The default value is 5000.

IPaddress
IP address of the ttcp receiver. 
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